7\
AY4
n
1]
=
un
L

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

01031174 HANSADISC - Waschtischbatterie, Niederdruck

EAN: 4015474254473

statichansa.com/01031174

Ersatzteile
SP01031174
Name Art.-Nr.

1 Hebel Chrom 59913831
11 Schraube, M5x8, SW2.5 59904755
13 Dekorkappe Grau 59912112
2 Abdeckkappe Chrom 59912797
21 Dichtungsset 59913833
3 Befestigungsschraube, M40x1, SW34 59913834
4 Kartusche, 3.5 Eco 59912324
4 Kartusche, 3.5 Classic 59913075
41 Temperatur-Anschlagring 59912325
43 O-Ring, d 28.24x2.62 59912590
4 0-Ring, d 10.10x1.60 59905072
5.1 Zugstange mit Knopf Chrom 59913652
52 Gelenkstlick 59904624
53 Bodendichtung 59914591
55 Befestigungsplatte 59904765
5.6 Schraube, M8x1, SW13 59904766
57 Befestigungssatz 59912113
5.8 Rl Ausgelaufen 59913398
59 Rohr, M8x1, L=560 59912806
510 0-Ring, 6x1.4 59913266
511 Befestigungsschraube, M8x1, L=140 59912474
6 Luftsprudler, M24x1 59913410
7 Ablaufgarnitur Chrom 59904620
9 Uberwurfmutter 59904969
9.1 Dichtungskit, 14.9x8.5x1 59902352
9.2 Dichtungskit, 10x8 59902272
93 Schlauch 59902151
N.I. Schliissel, SW30/34 59912108

1


https://static.hansa.com/01031174

